
 

Tunneling throughBarriers

one of the coolest things about QM is

there's a small but nonzero probability
for low energy particles to tunnel through
a barrier

Wehave built up sufficient mathematical
architecture to deal with a barrier
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the energy landscape
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We start as usual by writingthe

energy eigenvalue equs
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We recast this problem as picking
an energy E and sending in a

beam amplitude A from the far left
side Then incidentreflected
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We again emphasize finding

BIA to FIA b c we want
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Oof Now lets do BIA if we were

clever we'd just find 4311 12 instead
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common denominator and simplifying
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